Hours, minutes, seconds

-10,-9,-8,-7,-6,-5,-4,-3,-2,-1, 0,
1,2,3,4,56,7,8,910

Seven thousand, eight hundred
and forty-two

12 edges
17p

0.01

8m =800cm
£20 each

8 thousand

An acute angle has less than 90
degrees (smaller than a right
angle)

£4.42
8

50
9/10

. 0, 25,50, 75, 100, 125, 150, 175,
200, 225, 250

8x6=48,8x8=64
121
20:30

. To work out the area of a square

we multiply two sides together
(they are all the same length so
any 2 sides will work). To work
out the perimeter we add up all of
the sides.

. A square with 1/3 shaded in

2,1,0,-1,-2,-3

An equilateral triangle has
congruent (equal) sides and
angles

T7x6=42,7x9=63
15-4.3=10.7

. Anisosceles triangle has at least

two sides of equal length (two
congruent sides)

. 4x12=48,4x6=24

9 squared or 9°

4/7 are apples
% =0.25=25%

. Sheiswrong, 2 + 10 = 12, adding is not the same as multiplying

. Y is the same as 2/8 or 4/16 (or any other equivalent fraction)




